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Note - Attempt all queshons.
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Section-A
(Objective Type Questions)  10x1=10

1. Choose the correct option

()

(n)

The dagonal elements of skew-symmelric

matnx are

(a) nonzero

(b) 2e0

(c) irrahonal

(d) none of these

I every minor of orger n « 1 vanshes, then rank

is

(a) less thean n
{byn+1
(€)<n

{d) none of these
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() (TPA(TQ*R)(Q~R)v(P~R)

15 equrvalent 1o

(a) ((PVQ) . (PVQ)) ~ R
(bR

(c) both (a) and {b)

(d) none of these

(iv) A stalement A s saxd 1o tautologically imply a

(v)

slatement B d and only
(a) A —+ B s a tautology
(b} A » B s not a tautology
(c) B — A s atautology
(d) None of these

LeiR={(a.b) a«3b=12 a b« N} then doman
of Rs

(a) (9.3.6}
(b){1.2.3}
(€){3.1.6)
{123 )

([P.T.O.
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Mlllo[:]:m,a(y}:n,thﬂﬂlotalwq
tunchions from x 1o y are
(a) m”
by n™
(cym”
(d)2""

{vii) A vertex in a graph 1$ sa«d 10 be pendent veryg,
it s degree s

(a) zero
(b} one
(C)wo
(d) three

(vm) A null graph which consists of al least o
vertces s A

(a) connected graph

(b) drisconnected graph - ¥

J
() strongly connected graph 3%
(d) none of these



5 CBA-249-7 CB  COA-249-T ¢

_.R”-_}1P‘ iO"'(P"*R:I

i) ! G = (v £) s any connected graph. then 4  Prove that (P — (Q
F= (Vv G
(V_E ) s a spannng tree of S HR'and S 'amnversaofthemiahoﬂsﬂands
(a) T has the same venex v of verices as does G respectively, then prove that (SOR) '=R'oS§"!
(b) Tis atree § Prove that the vertices of 0dd degree in a graph s
(c) T s a subgraph always even.  hitp://www.dhsgsu.com
(d) Al of these 7 Express the algebnc expression (x yIHiEy ¢ 2) 4 w)
! ith @
{(x) The mwuwmum heswght of a binary lree W n a binary tree
verices iy
5 Im lci
(a)4 (Long Answer Type Questions) 3x10=30
(b6
! S 8 Solve the following equations with the heip of
)3 et » elementry operabons of matrix method
([ "
Section ‘B Fyeict
X -y+2=2

(Short Answer Type Questions) 4x5:20
2x vy -7 =1

Note : Allempl any four queshons

2  Show that the ewgen valuses ol symmetnc matna are 9. Construct the truth labile for the formula

real i) 7(P~Q)e (7P - 7Q)
3 Prove that Rank |A) = Rank (AT)

P10 () (P-Q)~(Q->P)
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